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QUESTION 1

A user requests that an approval policy be changed. The administrator tries to edit the approval policy and fails to find a
way to edit the policy when logged in with the System Administrator role.

What is a likely cause of this situation?

A. Once an approval policy is placed in Active state it cannot be edited by any user.

B. Once an approval policy is placed in Active state it can only be edited by an approval admin.

C. Once an approval policy is placed in Active state it can only be edited by a tenant admin.

D. Once an approval policy is placed in Active state it can only be edited by administrator@vsphere.local admin.

Correct Answer: A

QUESTION 2

A vSphere administrator needs to enable Distributed Resource Scheduling (DRS) in an existing vSphere
environment:

The environment contains a High Availability (HA) cluster with eight ESXi hosts.

Six ESXi hosts will be added to the cluster.

DRS should be used on as many hosts as possible.

Initial placement of virtual machines should be automatically performed. Migration recommendations
should be provided, but not performed without approval.

Which procedure should the administrator perform to accomplish this task?

A. Select the datacenter and create a DRS cluster. Add the six remaining hosts to this cluster, then enable DRS. Edit
the DRS settings and change the automation level to Partial.

B. Select the existing HA cluster. Add the six remaining hosts to the cluster. Enable DRS, then edit the settings and
change the automation level to Manual.

C. Select the datacenter and create a DRS cluster. Add the six remaining hosts to this cluster, then enable DRS. Edit
the DRS settings and change the automation level to Manual.

D. Select the existing HA cluster. Add the six remaining hosts to the cluster. Enable DRS, then edit the settings and
change the automation level to Partial.

Correct Answer: D

QUESTION 3

VCPC610 PDF Dumps | VCPC610 VCE Dumps | VCPC610 Braindumps 217


https://www.pass2lead.com/vcpc610.html
https://www.pass2lead.com/vcpc610.html
https://www.pass2lead.com/vcpc610.html

P 2L d https://lwww.pass2lead.com/vcpc610.html
aSS ea 2023 Latest pass2lead VCPC610 PDF and VCE dumps Download

—— https://Pass2Lead.com

A user reports an error when deploying a machine that only has one storage reservation option for deployment.
What is a likely cause of the failure?

A. The blueprint names a Reservation Policy and the Storage Reservation is missing the Reservation policy in its
settings.

B. The blueprint is missing the Force Storage Profile option that names the Storage Reservation as the destination.

C. The Reservation Policy is missing the name of the blueprint and the Storage Reservation to satisfy the requirements
for a single destination.

D. The Reservation Policy is missing the name of the blueprint but includes the name of the Storage
Reservation to satisfy the requirements for a single destination.

Correct Answer: A

QUESTION 4
Refer to the exhibit.

== VCP_DCV_Example Actions »
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The WinXP virtual machine user reports intermittent connectivity to the corporate network. The exhibit shows the current
configuration.

The configuration is as follows:

This virtual machine runs in a DRS/HA cluster of two hosts.

The VCP_DCV_Example vSphere Distributed Switch was recently created.

The WinXP virtual machine was recently migrated from another vSphere Distributed Switch.
The WinXP virtual machine was able to connect prior to migration to this switch.

No changes to the VCP_DCV_Example switch have been made since creation.
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Which step should the administrator take to resolve the WinXP virtual machine\\'s intermittent connectivity to the
corporate network?

A. Add the ESXi host to the switch where the virtual machine is currently running
B. Disable Port Blocking on the VCP_DCV_Example switch

C. Disable Port Blocking on the Production port group

D. Enable Network 1/0O Control on the switch to better balance I/O

Correct Answer: A

QUESTION 5

A vSphere administrator needs the ability to adjust the amount of guaranteed physical CPU and memory resources to a
virtual machine without incurring application downtime.

Which actions must the administrator perform?

A. Enable CPU hotplug and Memory hotplug on the virtual machine.

B. Adjust the number of CPUs and the Memory Configuration for the virtual machine.
C. Adjust the CPU reservation slider and click the Reserve all Guest Memory checkbox.
D. Adjust the CPU and Memory reservation sliders on the virtual machine.

Correct Answer: D

QUESTION 6

Which three Advanced Service Endpoints are available for vCloud Automation Center? (Choose three.)
A. Active Directory

B. HTTP-REST

C. SOAP

D. Puppet

E. Chef

Correct Answer: ABC

QUESTION 7

As part of a multisite Single Sign-On (SSO) deployment, what two steps are required to ensure that a change to one
Single Sign-On instance is propagated to the other instances? (Choose two.)
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A. Schedule a Replication Task on the primary instance

B. Select the first instance during the installation of subsequent instances
C. During the installation of each instance choose Linked-Mode

D. Enable Synchronize to Active Directory on each instance

Correct Answer: AC

QUESTION 8

Which two roles have permission to manage the presentation of catalog items to the consumer and entitle new items to
consumers? (Choose two.)

A. Tenant Administrator

B. Service Architect

C. Support User

D. Business Group Manager

Correct Answer: AD

QUESTION 9

An administrator wants a FlexClone machine blueprint to deploy only on FlexClone storage. What is the best method to
meet the requirements?

A. Create a Reservation Policy, and assign the Reservation Policy to the blueprint and storage for FlexClone machine
deployments.

B. Create a business group specifically for FlexClone machine deployments and assign the FlexClone reservation to the
business group.

C. Create a tenant specifically for FlexClone machine deployments and assign the FlexClone reservation to the tenant.

D. Create a Reservation Policy, assign the blueprint and storage for FlexClone machine deployments to the Reservation
Policy.

Correct Answer: A

QUESTION 10
Which configuration will block communication between two virtual machines on the same DMZ network?

A. An isolated Private VLAN configured on a distributed switch and the two DMZ server virtual machines connected to
the same port group

B. Two different port groups created on a distributed switch and 1 DMZ server virtual machine connected to each port
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group

C. Two different port groups created on a standard switch and 1 DMZ server virtual machine connected to each port
group

D. The security policy exception set to Reject for the switch to which the two DMZ server virtual machines will be
connected

Correct Answer: A

QUESTION 11

An administrator configures Cloud Registration to a vSphere Cloud type on the vCloud Connector node. Which value
should the administrator use for the Cloud URL?

A. the IP address or FQDN of the vCenter Server
B. the host name of the vCloud Connector Server
C. the IP address or FQDN of vShield Manager
D. the host name of the vCloud Director cell

Correct Answer: A

QUESTION 12

A Tenant administrator needs assign a role to a group to give them right to create, modify, and delete applications in
Application Services.

What is the role that will grant the group the minimum required permissions?
A. Application architect

B. Service architect

C. Application catalog administrator

D. Application publisher and developer

Correct Answer: A

QUESTION 13

When deploying a multi-machine blueprint that includes two web servers that should both service client requests, what
type of NSX for vSphere service is deployed?

A. A NSX for vSphere Edge Services Gateway configured for static routing.

B. A NSX for vSphere Edge Services Gateway configured for load balancing.
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C. A NSX for vSphere Edge Services Gateway configured for dynamic routing.
D. A NSX for vSphere Edge Services Gateway configured for load sharing.

Correct Answer: B

QUESTION 14

An administrator deploys vCenter Operations Manager for an environment consisting of 5,200 virtual machines. The
appliance begins collecting data from the environment.

A week after deployment, when the administrator tries to connect to the user interface, a 404 error is displayed.
What is the most probable cause for the error?

A. The Ul virtual machine is out of memory.

B. The Ul virtual machine is out of disk space.

C. The Analytics virtual machine is out of memory.

D. The Analytics virtual machine is out of disk space.

Correct Answer: D

QUESTION 15

An architect is trying to create and publish shared machine blueprints from laaS, but the option is not available.
Why is this option not available?

A. Only Tenant Administrators have the right to do this.

B. They must have Enterprise licensing to do this.

C. The Service architect does not belong to the business group.

D. The blueprints need to be added to the business group.

Correct Answer: A
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